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A= pyEya SN AR TIME
ma: a2Yx M2 Yst
el dElS HEt (CH M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
201 &gt=2E| 2,770 1,170 1,600
= 1,108
S 1,662
01 AlR2telbl 1,600 0 1,600
OUEXZAZATHINE 1,600
= 640
S 960
2 s=s=4Hl 1,170 1,170 0
Ottt 2 MAIAE 1,170
= 468
= 702
405 THaHE SH| 17,000 800 16,200
= 6,800
S 10,200
1 A ESF =S| 17,000 800 16,200
OIIABMETSANAE(SE) 17,000
= 6,800
[ 10,200
AS LT (HE)(=1) 1,392,150 1,577,135 A184,985
= 960,104
= 432,046
403 AXIEHSA=201H 1,392,150 1,577,135 184,985
= 960,104
S 432,046
01 AXISHHA=2EXE 1,392,180 1,577,135 184,985
OLt= LRI 1,392,150
= 960, 104
= 432,046
StETHGH Xl (M2 EEH) (R0)(XE) 289,263 0 289,263
= 115,705
= 173,558
101 el21H] 217,557 0 217,557
= 111,023
= 166,534
M IRNZZ2NHESE S 277,557 0 277,557
OJIZHHZ22 Xt 21HHl S 270,357
= 108,143
= 162,214
o=%= 7,200
= 2,880
[ 4,320
201 eEr2E | 11,706 0 11,706
= 4,682
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A= pyEya SN AR TIME
ma: a2Yx M2 Yst
el dElS HEt (CH M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 7,024
01 At22telt| 9,557 0 9,557
OXtE2EsIHE Xtz 9,557
= 3,824
< 5,733
02 SE=294| 2,149 0 2,149
OXMEESIE 2 FHI 2,149
= 858
& 1,291
ArATHOHL K2l EDI(AEX S ESI) (= 2) 10,204,634 9,721,157 483,477
= 7,037,681
< 3,166,953
308 AtXISHMS0IH 10,204,634 9,721,157 483,477
= 7,037,681
== 3,166,953
01 AXSHHBAELZ 10,204,634 9,721,157 483,477
Ot=HZ 0L S 10,204,634
= 7,037,681
= 3,166,953
MErdms = AH22(AU)(2)(BE) 500,000 0 500,000
| 250,000
< 250,000
401 A& BIZ20HYI 500,000 0 500,000
| 250,000
< 250,000
01 Al&H| 498,000 0 498,000
OALfERI T 498,000
| 249,000
= 249,000
03 A& =01t 2,000 0 2,000
OAUEAZY 2,000
| 1,000
& 1,000
Y 2H A (ASLRIME]) 930,943 880,273 50,670
oI 2 AH| 868,401 826,207 42,194
S2& 2l2d| XA 868,401 826,207 42,194
101 @I244| 841,041 799,807 41,234
01 2= 841,041 799,807 41,234
OpIE=r=1 658, 141
Oo== 635,174
4= 7,813,202« 18« 128 93,768
5= 6,682,554 «2H 128 160,382
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A= MEHEES A IR === ONRu =
M HZRAZHI(ASLXIHE)
el I E2al (2 M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
= 4,392,973 6 * 122 316,294
= 2,697,0653 x2H 128 64,730
(OFSF= S 22,967
= 4,392,967 *4H 22| x5(f% 17,572
-2 2,697, 0653 2 x22| x5(fk 5,39%
o< 182,900
OJ&E=g 11,040
SN} 40,0002 x9S~ 122 4,320
-S2HE 20,0002 x4~ 122 960
L PE 20,0002 +x6E ~ 122 1,440
=Mt 60,0002 x6& « 123 4,320
Od2=+=git=s 8,160
20301 & 100,000 x5~ 122 6,000
-15~20=2 08¢ 80,0002 x 1~ 122 960
-5~10= 018t 50,0003 x2& ~ 122 1,200
OdZ=gxItt=s 1,560
-25H0( & 30,0003 x4« 122 1,440
-20~2540] 8t 10,0003+ 18128 120
S+gfsd 4,800
-Jled=2sd 2,160
675 30,0002 x6& « 122 2,160
JedE2E0HS 2,160
JISE/INA 30,0002 +6E »12& 2,160
-AE2RS2(ES
40,0008 x1& 123 480
OAlZRIZR4E
12,6322 x10+37 Al 2+ 123 56,087
oorRIzeSY
4,107 23 +8BAI 2+ 123 13,011
OfYaRLY
99,0412 342+ 122 14,262
OZAsAI 140,0002 <11~ 123 18,480
OgZ =l 31,751,9202 x120% 38,103
Ot 4| 17,397
-ASH 7,248,237 3 x3H 122 %2 8% 7,307
-2ghy 3,753,388 x8E * 122 +2. 8% 10,090
204 AR A 27,360 26,400 960
02 Mg 2| 27,360 26,400 960
oty 27,360
042 400,0003x1H*123 4,800
O 250,000 2 122 6,000
O6= 175,0008 62 123 12,600
Oora 165,000 2~ 123 3,960
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